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F'(t) = 2x(t)(e" —e ") — 2y(t)(e' + &) = 2(e* —e ) —2(e* —e™) =0
HBZWEIRRICERLBEHEZEETLTHILTHRL .

Ft)=(e'+e "> —(e' —e ")? =4
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BX 12.1 g, h DO IEE. [ DRSS EIEETH > T BIC [, f, PEHEKTH
351E AR k(t) = f(g(t),h(t) PEBETEREAEICELT

HBEWIUATOELSICHEEET !

SO = S0 h®) 0+ oo he)

df _0fde  0fdy

dt ~ Oz dt ' Oy dt
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ERX 123 [, g9, h MRHAFIRETH > T BIC f,, [, NEREARTHZL5IE. &
B k(v,w) = f(g(v,w), h(v,w)) PEBTEBIEBEICEVWT (k=f,g=z,h=y
BELE—HRLEY)

ko(v,w) = fo(g(v,w), h(v,w))go (v, w) + fy(g(v, w), h(v, w))hy (v, w)
f'u = fmxv + fyy'u
of ofox  Of oy
o " dw v dyow

kuw (v, w) = fo(g(v, w), h(v,w))gw(v,w) + fy(g(v, w), h(v, w))he (v, )
fw = facccw + f’yyw
of _of ox  of oy

ow Oz dw 87y8w

BB 12.4 f(z,y) =222 +3y>, s =u+v,y=uw ETBEE. f,, f, ZRHTL
Zauw,

R 12.2 DT OREARICEL TEMBIK F(t) = f(g(t),h(t)) DB EFHRLT

—k
T, flz,y) =2 -9, gt)=e +e7t, h(t)=e —e!

folz,y) =2z, fy(z,y)=-2y, ¢g{t)=e —e ', h({t)=e+e"

fvfo%-i-fyyp:4$-1+6y-u=4(u+v)+6u2v

HBWE. f(z,y) =2(u+v)? + 3u? EFHELRELT
fu=4(u+v)+6ur?,  f, =4(u+v) + 6ur?
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FIRE 12.5 v =rcosf,y =rsinf &€ T2 EF. 2B f(v,y) & r,0 DL
RT. RMnZstBLTIETL,
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Exercise

a1t o

\\:SfﬁMO

(a,b) e

BAEE 1 [ HHE ME6.6 ] ROBAEIC L ZROTILTIL,
(1) z=a®—ay, x =1 y =2t
(2) z=ylogx, x =t —sint, y = 1 — cost.

BEARE 2 [ HHE RBE6.7] XOBEIC E, £ 2ROTLLEI L,
(1) z=e"siny, 2 =u+v, y = u— .

(2) z =log(2? + y?), v = 3 (u® —v?), y = ww.

BREE 3 2= f(r,y) =202+ 32 LT B ELEFUTORWVICEZTTIUL,

(1) z = cost,y =sint DEID L ZRDTTFILY,

Qrz=u+v,y=uw DEED z,,2, ZROTFELY,
BARE 4 f(s,t) = st,s = e %t = wsiny —ycosy THBEFIC. F(z,y) =
f(s(z,y), t(z,y)) IKPVWTHUATORWMICEZTTEL,

(1) F(z,y) D2RFTOREBAHRZEETKDTTEL,

(2) Fop + Fyy ZROTT SN,
KEEE 5 v(r,y),w(z,y) 13 2 FBEREHSATETSH > TEEREBRRILERTH S
CRELET,

(1) flz +iy) = v(z,y) +iw(z,y) DEREH - BRVERBOEKRT MEEREW
PEEE) THB. 2FH. ERD (a,b) IZXF L THBRR{E

lim flx+iy) — f(a+ib)
(z,y)—(a,b) x + Zy — (a + Zb)

NEETBHLE.

Vg =Wy, Uy = —W,
B2 TWABEZRLTTEL,
(2) Vpg +Vyy = 0, Wy + Wy =0 THBZEZRLTEEILY,

BEERXEE6 r=rcos,y=rsinf £32EF. 2BHEK f(v,y) Z r,0 DEIRL
RT. 2B0RMAZFHEL TS,




